Lesson 2.05 — “On Your Own” Worksheet Name: K e\kjﬂ

6.) Use the figure at right. Find the measures of ZBDA, 2ADQ, and 2CDQ for the following
conditions.

a.) f msBDC = 62°, then:
0
meBDA = 113

mzADQ = 6L’

mecpo = |8’

b.) If m£BDC = 72°, then:

meBpA = 0%

mzapQ = 12

]
mecpg = 108
c.) If msBDC = 55°, then: d.) If mzBDC = x°, then:
msBDA = 1257 mzBDA = 180 - X
0 o
mzADQ = 5% mesADQ = _X

msCDQ = 125" msCDQ = [90°- X




Use a straight edge to draw line L. Draw a point P not on line 1.

v

7.) How many lines could you draw that are parallel to line / that pass through point P? Explain

how you know. . .
There 1S ohly Ot (re that passes throvgh pmwi' P and is Pavallel

to lint L. Any other lihe that easses throvgh p2 vt £ would radevsec

!I.M [
8.) How many lines could you draw that are perpendicular to line / that pass through point P?

Explain how you know.
Tieve 5 only Ohe Iine +hot passes throvgh point P that is perpendiculer

ro Une . All other linus pa:h’ny throwh PO ¢ would not ke pewpewl;‘utw

o (ine L.
9a.) Use your straightedge to draw a line through point P that is perpendicualr to line /. Label

the new line as line n.

9b.) Use your straightedge to draw a line through point P that is perpendicular to line n. Label
the new line as line m.

9c.) Where will line / and line m intersect? Explain your answer.
Unts e gk £ il newer intersect. TT/‘{Y ave po\mll((. Becaust Hey ane
botl L +0 the Samt Uit +hey musk be povatlel.



